HLEE D iR 2]
1) A=4n/3. S=1/2 & LT, MM AMEAIC X 2 mBEiEIRE 2 Ko X,

RIS To=Nug2Mkp 1. N=6x1023 [mol-1]* 8 [g*cm-3] / 55 [g*mol 1] = 8.7x1022 [cm™3]
. #B=9.3x10-21 [ergG~1] . kp=1.38x10-16 [ergK-1], A=4n/3 (EXTTE : Hjpe [Gl= AM [G]
(A DEBRITH T DWOER T, BRI 1€ — X >~ F DAZDT, N IZHARRE
bz IZHLB) ) Z2fRAL T,

Tc=8.7x1022 * (9.3x10-21)2 * 47/3 /1.38x10-16 [cm~3erg2G-2erg-1K] = 0.23 [K]

2) FeDmBMEIEZIRE 1000 K 2 v, HBELARBHAERH I ALY —J Z2RkD Xk, 20D
. 2=8. S=1/2 £ ¥ k.,

_ 22JS(S+1)
3kp

J = 3kpTc/ 228(S+1) = 3%1.38x10-16%103/(2%8%3/4) = 3.45x10-14 [erg] = 0.02 [eV]
(1[eV] = 1.6x1012 [erg] )

Tc 2o Jz2RKDDH, 2=8, Tc=1,000[K], S=1/2, £ 5¢&,

3) TR, <Sp>=1/2L LT, WRE—X Y MR 2018 (BPES) Hg 2Rk &,

HE=M D, <Spp=1D ¢ X,
SUp

Hg = 2%8* 3.45x10-14 / (2%9.3x10-21) [erg / (ergG™1)] = 3x107 [G]
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